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-

Verfunctions :

function whose values are vectors
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peeof derivative

1) Linearity : I
(r, () + vz(t)) = 1 + rt)

2) ke IR
,
(KrH)= K n'l .

Proof : Limit definition
.
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3) Leibnitz Rules

scalar a) /CH g(t)! = 114g() + AC g')

tiple b) SKINECA)= KHECH + KITCH

Aproduct () (,1.(1) = M-+ Fic . +
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!
Ax + , x ')

product
all are proved in same way . Let's prove

(d)
.

-

Write (c) =

Am neth) - xat)
h +0 h

- -valth) - (ECH-ECt+ni)
h

- + x( )

⑬



3) Compute

"(t) and t = t (s)

(F(t(s)) = t'cs] '(t(s))
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, f)

t(s) = 52
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4) Higher derivatives

F(H = (x() , jy(t), z(+)
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,
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"
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,
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-change of volum of a parallelepiped .
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Ferrof Vector function

Primative :

(t = (x( , y( ,
z(t))

Let : It) is called the primative if As : Est
.

EH= (nit
,

(H
,
(1)

E= (iit
,
"'it

, (i)
Thus

"'s = (4)
I

>1 = Y()
* ( = (

then
->

Wi = & Y Adt+C,
( = SYNd+ + <2

wit = SECHdt + C2
or

RH = GEMd++ :
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Ex : H = (cost
,
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,
t

RH = (Scostd++ 2, Ssntd++ >, Stdt
+ G)

-cost, ) + (,G,()
Anitintegral:

· Est dt = E(b) - Ecal
a

-istorat,
Izet it

= (
,
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since ostdt= saCE)-scos = Is

Stintdt= -cos(t)+cos(0) = 1 - z
go


